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1. —1k]=0
rmld
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3. —|ku|=ku’
o lku]
5, i[uv]:uv’+vu’
X
7. i[f(u)]: f'(u)-u’
dx
10. i[sin(u)]:cos(u)u'
dx
12. i[cos(u)]z—sin(u)u’
dx
14. i[tan(u)]:secz(u)u’
dx
dr. . u’
16. —|sin *(u)|= 17.
dx[ ( )] 1-u?
19. .k du=ku+c
21 [k ) du=kJ.f(u)du
23 [e" du=e"+C 24,
26. [sin(u) du =—cos(u)+C
28. 'cos(u) du =sin(u)+C
30. [tan(u) du = Injsec(u)|+C
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11. &[csc(u)]:—csc(u)cot(u)u
13. %[sec(u)]:sec(u)tan(u)u’

d 2 1y
15, &[cot(u)]:—csc (U)u

! !

d B o i . B u
&[tan (u)]—1+u2 18. dx[sec (u)]——‘u‘ YO
20. J-u”du:nn+1+c n=-1
+

2 I[f(u)ig(u)]du:jf(u)duijg(u)du
‘[1 du =Inju/+C 25, Iu‘l du =Inju[+C
u
27. | esc(u) cot(u) du = —csc(u) +C

29. .sec(u)tan(u) du =sec(u)+C

31 | cot(u)du=In [sin(u)|+C
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52 [sec?(u) du=tan(u)+C

34 [sec(u) du = In|sec(u) + tan(u)|+C

c  du . (U
36 =sin'| = |+C
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—F—=— — |+C
38. '[u T aSGC [a}-k

To Be Introduced in Chapter 8:

39, Iln(u) du=uln(u)-u+C

33, jcsc2 (u) du =—cot(u)+C

5. [ fau+b) du:iF(au+b)+C

37.I - du:ltan‘l(g)+c

a®+u? a a

0. _[SeC3 (u) du = %[sec(u)tan(u) +In|sec(u) + tan(u)| ]+C



